Radiation on Bean Growth
Update

Derek Boylan & Stephanie Durham




Trigger Efficiency Test

 Gluing vertically worked much better

« In the process of running a test with all three
paddles

» Started count yesterday afternoon and so far it
Is at about 400 counts



Radiation’s Effect on Bean Growth

- Finished the first part of the experiment
= Going to finish analyzing the all the data
> Tomorrow, we will observe root and stem cells
under the compound microscopes
- Preparing to begin the stages of development
experiment

= Five different stages of development (three weeks
after germination, two weeks after germination, a
week after germination, right after germination,
and germination)
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Height vs Time

/é —oors Gamna
—_—

400 f/ — e (0.861 Gamma
300 — — e 60 Gamma

/) v camma
) \ |

200 i [/ \ i ====1.90 Beta
150 - -\ L—/ — 2.41 Beta

Height of Plants (mm)

100 =0 34 Beta
0

S e==13.0 Beta
0

Time (days)



Average Change in Height of Plants vs. Dose
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Diameter vs Time
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Average Change in Leaf Diameter vs. Dose

150

100

50 I
* b B i
+ + Gamma
0 [ a | 6 8 10 12 14 16 WBeta
Control
-E0 HH

Average change in leaf diameter over 18 days(mm)
L]

-100

-150
Dose (mrem/h)



http://www.vsl.cua.edu/cua_phy/images/2/21/ChangeinDiameter.png

" Mo Radtiation " 0.634 mrems from Cesium-137 i 0.861 mrems from Cesium-137
14 18 1z +
——Flant1
E LE — Plafit 2 E e i -
Ll ——Plant3 220 ——lant 1 E® T —tant 1
?._- g —plant 4 .E L Blant 3 :;E 2 e Pl 1
-E ] m—Flant 5 E 7 —plant _‘F: & ——Plant 3
F 4 ——plant z .1 Flant 4 E . ——rlpnt4
3 4 e Blant ¥ - B3 ; - -\\
——Flant )
o 0 o .
t : 3 4 5 & 7 B 9% W ou 1 3 4 5 & 7T B % 10 1 10t 8% 4 & & 1 i 1
Time (days) Time (davs) Time (dave)d
i 1.60 mrems of Cesium-137 i 1.90 mrems of Strontium-90 " 2.01 mrems of Cesium-137
14 14 4 14
E 12 5 1r ¢ s 12
5 10 " 1o 1 Pt 1 210 —aet
o = Pian 5
g5 n — it 7 L8 -8 7 m— i
£ g e Zs s ‘i & i — Pl 3
E 5 B — Plast 4 L -
3 , Flasa 4 24 - z: i / Ay Flasa 4
2 — : Ll
o LS o o + /
1 7 L] & 7 E % 10 I 1 2 3 4 g & ¥ -] @ e 11 1 2 ¥ 4 5 L] b L 2 e nu
{Llrn: %dl}'i] Time (days) Time {days)
i 2.41 mrems of Strontium-90 " 5.34 mrems of Strontium-90 i 13.0 mrems of Strontium-90
14 14 14
& p12 512
=
T —aat g —uert S _—
= —ipet 7 TR —iae 2 . K
5 Fland ¥ = Pt § B o =
t & —Faen 3 = 6 * -E & i -, / -
:-'_': 4 Flasn 4 & — Pt 4 z_ i — o
: z 1 2 —L
Q a Q

& 7 B 2 1w n 8 9 o 11

‘]E'mr?di:.-*;]

3
Time (days)



Number of Leaves vs Time
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Average Change in Number of Leaves vs. Dose
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To Do List

- Start stages of development experiment

- Finish graphs

- Analyze all the data from the effect of radiation
on bean growth experiment

 Analyze stem and root cells under the
microscope

« Work on research paper



